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uksV& lHkh iz'u gy dhft;sA

Attempt all questions.

[k.M (v)

Section A
1. fuEu VElZ dks mi;qDr mnkgj.k ds lkFk le>kb;sμ 13/16

(v) Multiprogramming.

(c) Multiprocessor ,oa

(l) Real time systems.

Explain following terms with suitable example—

(a) Multiprogramming.

(b) Multiprocessor and

(c) Real time systems.

2. dEI;wVj esa eseksjh dh vko';drk D;ksa iM+rh gS\ dEI;wVj esa mi;ksx dh tkus okyh fofHkUu eseksjh

ds izdkj fyf[k;sA eseksjh eSustesUV dh O;k[;k dhft;sA  13/17

Why memory is needed in Computer ? List different types of memory used in

computer. Discuss memory management.

3. Computer Networks dh D;k egŸkrk (Significance) gS\ LAN, MAN ,oa WAN dk

mi;ksx djrs gq;s] topologies dh rqyukRed (comparative) study nhft;sA 14/17

What is the significance of computer networks ? Give a comparative study of
topologies using LAN, MAN and WAN.

P.T.O.



[k.M (c)
Section B

4. (a) For loop D;k gS\ ;g while loop ls dSls fHkUu gS\ 6½/8
What is for loop ? How it is differ from the while loop ?

(b) Application server D;k gS \ ;g dSls dke djrk gS\ 6½/8
What is application server and how it works ?

5. (a) Array D;k gS\ ;g fdrus izdkj ds gksrs gSa\ 6½/8½
What is array ? What are its types ?

(b) Package D;k gS\ ge package esa class dks dSls tksM+rs gSa\ 6½/8½
What is package ? How do we add class in package ?

6. (a) Java applet dSls cukrs gSa\ 7/8½
How do you create a java applet ?

(b) Applet life cycle methods dks foLrkjiwoZd le>kb;sA 7/8½
Discuss applet life cycle methods in detail.
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